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Varying number of nearest neighbors + PCA vs. scVI

20 nearest neighbors 50 nearest neighbors

TedSim-Validation - eps=0.005, NN=20 TedSim-Validation - eps=0.005, NN=50

s > - 10 L 4 - > > * 10 L 4 > s -
f ]
» V4
08 e 08 .
/
/
/
- / w
06 R ’ 06
~®- |2 pca N ;. |7® E2pca
dpt_pca s e = 7 dpt_pca s
®- 12 scvi @ N TESS NS ! ®- 12 scvi T e
/ @~ dpt scvi & L -e ee- ! == dpt _scvi S @=—cmT K
ey / e~ zero-line 2 == NEESSERaS ! o~ zero-line 2 T s
At D - £ o .. ~—a £ . | N .
®- random ~ ~~e ®- random
04 i 04
O ———— el TR N O ———
S s, ]
» * » ® » *®
- 02 - 02
. - ° 0.0 . . ° ° ° 0.0 . © ° o
5.0 55 6.0 65 7.0 30 35 4.0 45 5.0 55 6.0 65 7.0 3.0 35 4.0 45 5.0 55 6.0
Depth Depth Depth

L2 _pca= L2-cost applied in OT, with cells represented in 30-dim. PCA space
dpt_pca= dpt-cost applied in OT, with cells represented in 30-dim. PCA space
L2_scvi= L2-cost applied in OT, with cells represented in (10-dim.) scVI latent space
dpt_scvi= dpt-cost applied in OT, with cells represented in (10-dim.) scVI latent space
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